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Run 5896 guartetwize, negHO vs time

12

!

L :
I T S T

i

T LT R UL IR LR T T Y : BUEE TR RERE e o gy

L % , | W 8 E¥ N e N, @ ey e a | N p g RN W ppg ko, ™ e e

1]
|III|II I|III|II I|III|II I|III|II I|II

jaac]

20 4 &l ETH 100 120 140 180 4 7] T 160 120 140 1&0
Entry% Entry&

=]
]
=]

Run 5896 quartetwize, diffl ve time Run 5896 guartetwize, summ vs time

dilid

sammid

an

: n jm' ru H! W!

|i :i.ll il |

25
20
15
i

WOl TNy AR N N ) ANPNE SN

LI X I RPN B R TERNTE . S BN B | U B Tl
[T

=

=
=

Ly

jaac]

-
E
=
5]
=
s
=

T 100 1340 140 1E0
Entry5 Enbry5

Run 5896 quartetwise, posH4 vs time
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